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Part [ / 91T 1
Mathematics / TifoTa

If fis a function of real variable x satisfying
flx+4)=f(x+2)+f(x)=0, then f is a
periodic function with period :

10

2.  If the function f: [1, o« [> [1, « [is
defined by f(x) =3**~1); then f~ (1) is :

o (@

(2) £[1—J1+4lnggx]
1

(3) E(’l + 1 +4 iﬂgg,x)

(4) not defined

1

I
"

Ife f U arEafas =R x F w2 Sl R
flx+4) = f(x+2) +£(x)=0 P HF= HLdl &,
1 f T SMEdT B g T ad-d ¢

1) 6
@) 8
(3) 10
12

(4)

e T f:[1, = [ [1, = [ TH IHR
uftaifiE & 7 fx) =33 -V & @ ) ¥ -

(2) %(1—,f1+4luggx)
(3) %[1 + 1+ 4log; x)
(4) ufoonfea 72 &

S/Page 2

SPACE FOR ROUGH WORK / 1% &rd &% g wmg



www.eenadupratibha.net

3. The number of integral values of m for m % I YUiEE AEl &1 "ew, s
which the equation, fore Tt
(1+m2) x2—2(143m)x+ (1+8m)=0, has (1+m2) x2—2(1+3m)x+(1+8m)=0 &I
no real root, is : FE IAEAF A TR G, © :

(1) 1 (1) 1
(2) 2 2) 2
3) 3 (3) 3
(4) infinitely many (4)

4. Let S={zeC:z(izy —1) =y +1, |z;/<1}. WA S={zeC:2(izxy ~1) =21 +1, |24<1}
Then, for all z € S, which one of the gaafizesTfonfmRigsR o
following is always true ? THI TG T ?

(1) Rez—-Imz<0 (1) 'Rez=Imz<0
(2) Rez+Imz'<0 (2) Rez+Imz<0
(3) Rez<0 (3) Rez<0
(4) Rez-=Imz>-1 (4) Rez-Imz>-1
5. If for a matrix A, |A|=6 and afs arsgEs A & fau, |Al=6 7o
1 /=N 1 =
adj A=| 4\ 4 lJ,tl'lenkisequaIm: adjA=[4 1 1% @FkTRT:
=1k 0 -1 k 0
1)\ =1 1) =1
(2) 0 (2) 0
(3) 1 3) 1
4) 2 4) 2
S/Page 3 SPACE FOR ROUGH WORK / T% & & fom 57
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& at(u, %)ﬁaaaﬂﬂﬁfﬁifﬁqm

2
the determinant of the matrix [ 22 fandteect® 3 |
-2 tant?-i»snczﬂ 3 —sin# cosé sin#
—sinf cosf siné -3 —4 3
| =@ -4 3 ] %1 TR zam fag simme § frga 8, ag 2

always lies in the interval :

7 2]
(1) [2’ 5
2 33
(3) @ 6)

o %)

7. A code word of length 4 consists of (wo
distinct consonants in the English alphabet
followed by two digits from 1 to 9, with
repetition allowed in digits. If the number
of code words se iormed ending with an
even digit is 432 k, then k is equal to :

AN\Y
2) 5

(3) 49
(4) 35

7 211
D |72:%]
@ &3
(3) @96
(519
BN\ 2" _-1-]

7. @A 4 9 U Fove H AU TeTEm F A

fafm e e T IR ag 19 TR d A A
e & Ford Tt 9 Wl ¢ 1 Afe 59 TR
T Feor= e sifem of= wm ¥, =1 wen
42kE WA TOWE :

1) 7
2) 5
(3) 49
4) 35

SPACE FOR ROUGH WORK / 7% &9 @ fog W
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1 1 1
i 8. It S=—+ - +..... LED
8.  The sum of the series 191 T3 T s 10 g ;
5 1 1 1
5= + + o AT i . .
191 31171 " 5151 to 10 terms is T AN 5. TR T :

equal to :

- 9% e
(1) 20! 1) 20!

22[] ZED'
2 — 2 e
2) 20! ) 20

ZIU 210
3 e 3 e,
G @) 5

2]9 2!9
4 — 4 —
) 19! (4) 191

9, Let a, b, ¢, d and e be distinct positive | 9, HAH a, b, ¢, d 991 ¢ T9=9 9 g=md €1 afe

numbers. If a, b, ¢ and % %—; % both are a, b, c @ % %, % 2F1 waiat 3t § ¥ qen
in AP. and b, ¢, i G.P. then : b, c, d O I H €, @

(1) a,c, e arein G.P. (1)  a,c e oI 42 H €

(2) a,b,eareinG.P. 2) a h,ew C R

(3) a, b, earein AP, (3) ab,eTdio I H T

(4) a,c earein A.P: (4) a,ceTHIMR I H €|

S/Page 5 SPACE FOR ROUGH WORK / % &4 % fom g
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11.

10. 1 z[” - ]31%, then n is | 10. vmzf G ]3=E%,?PEHW
=i\ Ci +"Cj -1 13 G+ G 13
equal to : T
(1) 10 (1) 10
2) 11 2) 11
3) 12 (3) 12
4) 13 4) 13
lim (1= x)+[x —=1]+[1 - o), where | 11. lim (1= x) + [x Z A+ 1= o), = [,
[x] denotes the greatest integer less than X '%Fﬂ'ﬁﬂ 1 S8 w1 WEaH Yo @i fafde

12.

or equal to x :

(1) isequalto —1
(2) isequalto0
(3) isequaltol

(4) does not exist

sinxy  cosy sinxy +cosxy +1
If y(x)=| 23 ; ¥ 13

P A 1 1

a- .

+ y is equal to :

dx?
(1) 6
(2) 4
(3) -10
4) 0

FLAT

(1) —1 % SE T
(2) 0 F TE T
(3) 1F TR T

(4) = Afa 78 T

sinx c¢osx sinxy +cosxy+1
afe y(x)=|23 17 13 !
1 1 1
dz
IER%,TTh adil & + vy AT T
2
dx
(1) 6
(2) 4
3) =10
(4) 0

S/Page 6
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13. Let p(x) be a real polynomial of degree 4 | 13. ¥l p(x), I 4 F1 Ua =TEferF ague & foresh
having extreme values at x=1 and x=2. IH WA x=1d91 x=2 9T 71 4fg
If lim ﬂ:%l:l,menp{-i}isequalm: lim E%1:1 %,ﬁip[&)‘ﬁtﬁ'{%':
=l =0 ¥y
(1) 8 (1) 8
(2) 16 (2) 16
3) 32 (3) 32
(4) 64 (4) o4
14. The abscissa of a point, tangent at which | 14. 39 ﬁl’g’. w1 Y4, =9 o7 9% y=e* sinx,
to the curve y=e* sinx, xe[0, 7], has xel0, =] ol O T T T AfYeaH €, ¥
maximum slope, is :
(1) 0 (1) ¢
@ 3 @5
W (e
® 3 N\ 2
4 7 4) =
e [ B = f) ¥ ) +C, | 15, Eﬂ“ﬂ[ 1 57 = f(x) (1427 +C
(14 25)73 X (14 18)73
where C is a constant of integration, then €, W&l C guEFe AR 8, o f(x) T T
f(x) is equal to -
. O S
M~X\3 @y =g
1 1
) & —=
5 8 o 6
B -3 B —3
X X
g g @ 3
S/Page 7 SPACE FOR ROUGH WORK / 1% &4 & fag s
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i

' 2
16. The integral I [x*]dx ([f] denotes the

17.

18.

greatest integ&i less than or equal to f) is
equal to :

1) 3-42

2) 5-23

3. 5-42 -3

4 6-V2-3

If the line x =g bisects the area under the

1 P
curvey=—2,1£ x =9, then'a’ is equal
X

to :
4
M 3
9
@) 3
-
(3) 9
9
4) 3

The solution of the differential equation

ydx + xdy x>

e R —

!

ydx — xdvy y4

satisfyving y(0)=1, is :

(1) x =3y -1+ e"xl’)

2
16. THEA [ [x2|dx, (R[], t HFA ML

17.

18.

]
e TEad quie i fAfde Fm &) s
T

1 3-42
2) 5-243
3) 5-J2-3

W 6-v2-5

afe W x=a, TH y 4—%-,15:::29 &+

.o

X

A4 F AT W HHGHEE &, Ol
O
2 3

5
®) 3

9
S

(4) = =3y3 1- E'W)

SPACE FOR ROUGH WORK / T% &14 = folg g
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19. A line passing through the point P(1, 2) | 19. f&g P(1,2) | B ST =t &, {@ix+y=7
meets the line x+y=7 at the distance of I P H 3 3B hi g0 W fHedd g1 ol 39 i
3 units from P. Then the slope of this line FI e fore T Sl < Tl ¢, T8 © ¢
satisfies the equation : ;
(1) 8x2-9x+1=0 (1) 8x2—-9x+1=0
(2) 7x2-18x+7=0 (2) 7x2-18x+7=0
(3) 16x2-39x+16=0 (3) 16x2-39x+16=0
4) 7x2-6x-7=0 (4) 7x2—6x-7=0
20. Two vertices of a triangle are (3, —2) and | 20. afe T &5y & 9" (2, —2) q4i(~2, 3)
(-2, 3), and its orthocentre is (-6, 1). € 991 3HH Gadhe (—6,1) ¢, d Byw #
Then the third vertex of this triangle can e v o v m fya =8 9 wFa '
NOT lie on the line : 6 g
(1) 6x+y=0 A (1) 63+y=0
2) dx+y=2 ﬂ 2y dxy=2
(3) Sx+y=2 (3) Bx+y=2
(4) 3Bx+y=3 (4) Bx+y=3
21. Let PQ be a focal chord of the parabola | 21. HHI PQ Weed y?=4x =l THh AN e €|
y*=4x. If the centre of a circle having PQ g PQ W A g4 E TR G|
as its diameter lies on the line S5y +4 =0 W fga g, dsian pQ +it werg
J5y + 4 =0, then the length of the chord e
PQ is :
g s L, ¥
[ } 5 5“- - H { } 5
)28 5L ) 2
l—} 5 ___J: :w { } 5
365 365
@ == 5 B =
J 3
265 265
4) (4) :
S/Page 9 SPACE FOR ROUGH WORK / 1% &4 & fam wre
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22, The foci of a hyperbola coincide with the

23,

24,

5 2
: : = Y

foci of the ellipse — + — =1.
PPE e T g

eccentricity of the hyperbola is 2, then the
equation of the tangent to this hyperbola
passing through the point (4, 6) is :

If the

(1) 2x—-y-2=0
(2) 3x-2y=0

(3) 2x-3y+10=0
(4) x-2y+8=0

For all d, 0<d<1, which one of the following
points is the reflection of the point
(d, 2d, 3d) in the plane passing through
the points (1, 0, 0), (0, 1, 0) and (0, 0, 1) ?

2 2 2
{'1} ['?—’-3d.-'§_2lf,g_ﬁr]

The plane through the intersection of the
planes xt+y+z=1and 2x+3y—z+4=0
and parallel to y-axis, also passes through
the point : A B v £
(1} (=30, -1)

(2) (3,0, 1)

3 (=301

4 G0 -1

22,

23.

24.

w fqumem #t AfEl w ege

%+§=1ﬁ#ﬂﬁ%m%luﬁ
FfTgea Ft Ichagd 2 T, 9 39 sfaaey
;ﬂﬁg@mﬁgaﬁ%ﬁmﬁmmm
1) 2Zx—-y—2=0

(2) 3x-2y=0

(3) 2x-3y+10=0

(4) x—-2y+8=0

a4t d, 0<d<] % {7y, = | & =9 w fag,
g (4, 24, 2d) =1 f&g3d (1, 0, 0), (0, 1, 0)
(0, 0, 1) | AT T T wHAE H iafa=
g7

2 2

2
ooy *ouag B
(1) [3 3 3 ]

(2) [- % + 3d, 24, % +fﬂ

4

3)  (3d, 2d, d)

1 2 1
L W) SRS
(4) |g3 :f3 A r)

L=

e x+y+z=1 791 2x+3y—2+4=0
F yfF=oea o @6 @ Ien wHad, S
y-3151 % TR 2, o fg 9 i e &, =8
g

1 (=3,0, -1
2 (3.0,1)

3) (=301
4 G0 -1

S/Page 10
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From a point A with position vector
Fal FaY iy
P(i +j+ k), AB and AC are drawn

-3 A A M,
perpendicular to the lines r =k +.&(z’ - j]

and ? =— E + ,u(? - ?), respectively.
A value of p is equal to :

1 -2

(2 -1

3 2

(4) 2

For a positive integer n, if the mean of the
binomial coefficients in the expansion of
(a+b)2" 3 is 16, then n is equal to :

1) 4
(2)
(3)
(4)

Oo=1 W

A box contains 5 black and 4 white balls.
A ball is drawn at random and its colour
is noted. The ball is then pat back in the
box along with two additional balls of its
opposite colour. If a ball is drawn again
from the box, then the probability that the
ball drawn now is black, is :

=

i | ~—d
L) 11

@ 1
53
B) 59

48
4) 59

25. fag A ﬁﬁmﬁtﬂﬁmﬁwrr(?+?+3] %,

26.

27,

o i L=, A AN
H AB AHIAC L TElg y =;;+A(;‘ +;‘)

— e

lll"" £l e
qdl 7 =—-.£:-i-,u,(f—}:} & waed ]

TR p I UE T AH T

(1) -2
2) -1
®) 3
(4) 2

TS YU n e o, B9 @+by 2
ORI T 16 F, o ae ®

(1
2
(3)
(4)

W~ A e

T AR T 5 Fell 9914 The e 1 399 9
A= U Tie Tetell 78 qer 39eR 31 AR
o T 39 e o, THE Tauda T w2
sifafad Tie] & WY 999 H§ Jidd 8 fedl
T 3 ufe e H 0 U e et mE, @

7
(1) [
3
2 7
53
®) 5
48
4) o9

S 'Page 11
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28. If the system of linear equations : 28. 3 @ wHtw e
x+3y+7z=0 x+3y+7z=0
—x+4y+7z=0 —x+4y+7z2=0
(sin38)x + (cos2f)y +2z=0 (sin3@)x + (cos2f)y +2z=0

has a non-trivial solution, then the number F TF 37D & €, a1 3a0a [0, 7] § I=A
of values of @ lying in the interval [0, #], ATl ¢ HHI i HEA T
is
(1) one (1) U=
2) two 2) =
(3) three (3)
(4) more than three (4) T |/ Hf=
4
19 il 15
29. The value of cot z cot™ |1+ > 2p 28, u‘}t| Sooot L [1 + Z 2;:“ FIAAZ :
n=1 p=1 ~n=1 \ p=1 i
15 :
) = 8 ot
(2) 19 (2) 19
19 19
3) 3 ® 35
j 2 gy 2
30. The negation of A—(Av~B) is : 30. A—(Av~B) &1 fquy .
(1) a fallacy (1) UH Hds Tl
{25 a tautology (2) TF GEH €
(3) equivalent to (Av~B)—A (3) (Av~B)—A & THIE T |
(4) equivalent to A—=(AA~B) (4) A—=(An~B) ED A el
S/Page 12 SPACE FOR ROUGH WORK / 7% & & fa -z



www.eenadupratibha.net

Part 11 / 9T II
Aptitude Test / 3ifusfa wdteror

Directions : (For Q. 31 to 35).  Which one of the answer figures shows the correct view of the 3-D
problem figure after the problem figure is opened up ?

s : (W.31 &35 & W) 3-D 597 s7Fia #1 Giod W, I MFfadl 4§ 4 §el evq Fi7 @1 &2

Problem Figure | ¥o9 Sighfa Answer Figures / FaT 3iaal

2

. @ h WlR dm o

(1) (2) (3) (4)

' 1]

(1) (2) (3) (4)

= <= <[> «

(1) (2) (3) (4)
S/Page 13 SPACE FOR ROUGH WORK / T% &4 & fou smmg
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Problem Figure ¥ 97 3&id Answer Figures /| 3¢ Sfrgfaar

| — —-
]
, i fhn U (b e T ond] Lo
@ = =l Al ] L V_Ij E‘l U
34. - -
(1) (2) (3) (4)
-
H =
| = k. I - N (O
35. @ ir' =3 ir' Y C NS = H
[ =
(1) (2) (3) (4)

Directions ; (For Q. 36 to 39), Find the total number of surfaces of the object given below in the
problem figire.

fdor: (W36 B39 & fw)i w7 ersfa 7 fr=rfera agg & aael &1 Fo T237 71 Fifod |
Problem Figure /| ¥99 3frhld

37.

(1) 24 (2) 19 3) 22 (4) 21

S/Page 14 SPACE FOR ROUGH WORK / 1% @ & fog sme
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Problem Figure / F97 3lgld

38.

1 17 2) 19 3) 16 4) 18

2) 7 (3) 9 ‘}n\ 11

Directions : (For Q. 40 to 42).  One of the following answer fioures is hidden in the problem figure
in the same size and divection. Select the correct one.

Fier: (7. 40 B2 Ffag)1 79 3 73 35 sFfadd ¥ 8w sty am sl foom & g =9 @
797 spia § gvt &1 @l Wi agl & gy

Problem Figure /| ¥¥7 HIFld Answer Figures | 3t% Sgfadl

B oy 0 o«
(1) (2) (3) (4)

'Y
41. k‘ O 4
1 ©ow

(1) (2) (3) (4)

B s 0 o s
(1) (2) 3) (4)

S/Page 15 SPACE FOR ROUGH WORK / 1% &4 & foa s
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Directions : (For Q. 43 to 45).  The problem figure shows the top view of objects. Looking in the
direction of the arrow, identify the correct elevation, from amongst
the answer figures.

frdor: (.43 V45 F fom) 1 597 pfa & awgait @1 590 gvg fearan w4 &1 @1 #1 fawm 7 733
BT I SFAA 1 G Hel wgE gvd e |

Problem Figure [ Answer Figures / 3% rFfaa

T SAFId

(1) ) s

o = M
)
)

44,

A| ZUDMCRAITh =Th Al

(1) Q) - A

—-| L [—

A () @) © )

S/Page 16 SPACE FOR ROUGH WORK / 7% &1d & feu wg
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Directions : (For (). 460 49). The 3-D problem figure shows the view of an object, ldentify the
correct top view from amongst the answer figures.

AEer: (w46 B9 F )1 3-D 797 s1Fid ¥ UF 95 & OF v T fo@rm 7 31 3997 T8
FWT 5vE, I SFEIGA F T TEAY |

Problem Figure | T 371 Answer Figures | IT 3TFHIGT

46. |

s
B & ) (4)

My N
ELORS
®

-

47.

== 1

3=

48.

(2) (¥ (4)

S

49,

hH [ H
7'

B HE) |
(1) Q) (3) (4)
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Directions : (For Q. 50 to 56).  Which one of the answer figures is the correct mirror image of the
problem figure with respect fo X-X ?

fAder: (.50 @56 & for@ )1 v smgfadl & @ Hi7-G1 Afa 3 74 Y97 eugld &1 X-X &
GET T8l g9 qiatee &2

Problem Figure | 997 gl Answer Figures | 30 3gtaar

X
Enl % %
X b0 (2) 4)
X
a A BB
51. K
A (1) @) ) @)
X
X B Q) (3) (4)
X
ff,t#} <ﬂh\\x Z\"x e MH’H [E\H
- " b b N - Bt
53. || NI 7 N N N /

X (1) (2) ®) (4)
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Problem Figure | F¥7 3Tl Answer Figures / 3wT Gﬂw

X

54. | /
X ) ® 3) @
X

5. @ @ @ '\C §¢ |\%/|
. Q @) 3) @
X

56, ﬂ

1‘7*’“: n

| X

@

Directions : (For (. 57 to 60).  Which one of the answer figure will complete the sequence of the
three problem figures ?

e : (8.57 760 F for@ )1 I siFfadl & @ #17-1 srly &1 a7 997 gl 4 @ g
HTFH (sequence) T & SEM 2

Probient Figures | 797 ST@faal Answer Figures / 3 sFtaar
57. fﬁ'ﬁ ‘{ 7 % @ ﬁ %
(1) (2) 3) (4)
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Problem Figures [ 797 ST Answer Figures / 3T HTFTT

5&%% v

N sRsWe X
- HHe B FAE M

{

K
i
4

W)
-
dm 2L

L1
=

~

B

Directions : (For Q. 61 to 63).  The 3-D figure shows the view of an object. Identify the correct
~ front view from amongst the answer figures. in the direction of the
arrow.
fAdor: (W61 63 & foT@)1  3-D ¥93 Aila & @F a9 ¥ UF 599 71 =277 741 &1 R &1 fewn
4 PG 50 79 U@ gVF FI 3K HF9 3 F GganA |

Problem Figure [ F27 HTFIT Ansiver Figures /| St BW

61. =] = = =u
(1) 2) 3) 4)

6.

P B
L L I =
(1) ® Q (4
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Problem Figure / W97 SIHld Answer Figures | S 3Fiaar

_ ba. \_‘_l_ = L.]_I_

(3 (2) (3) (4)

I

Directions : (For Q. 64 and 65).  Identify the correct 3-D figure from amongst the nnswer figures,
which has the same elevation, as given in the problen: figure on the
left, looking in the direction of the arrow.

T : (. 64 3T 65 % fAT )1 3-D IR Faa § @ 39 WAl o veTni@ fog %y a) %1 e §

YT 99 F97 Spia 4 e o
Problem Figure / Answer Figures / 307 3HIaq]
¥ Sld
7 A8 ol
f o e Cle (e (la
« LA S 9 e 90 T
' AT =51 7 ~7
(1) (2 (3) (4)

= | L

| IR LN ,.p-;;?

) (3 & | (4)
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66. Which person is famous for the extensive | 66. ¥t # 32 ¥ # fafawar 4 +m T am@n

brickwork in Kerala ? F W Af wfog ® 2
(1) Laurie Baker (1) it a6t

(%) . Hafeez Contractor (2) TS FigaRT

(3) Charles Correa (3) =ed HIf

(4)  Achyut Kanvinde (4) oT=qd FEfEg

67. Aswan dam is situated on which river: | 67. #AFER I fFa T TRy 27

(1) Amazon River (1) G5 T
(2)  Nile River (2) e 7€
(3) Rhine River (3) TE
(4) Irrawaddy River (4) FTEE TG

68. Interior of any room will appear larger | 68. T8l FH F1 3§ =1 W 1 & 4, 97

when painted with which colour ? a3 fe@R & T &2
(1) Grey colour (1) YU

(2) Blue colour (2) Hemim

&) Black colour (3) e

(3  White colour (4) HHg
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69. Howrah Bridg.e is 69. TEElIH g :
(1) A steel structure (1) THEEEETNE
2y Resting on concrete pillars (2) e % Wil e ¥
() Cable hung structure (3) TR TS W TEH B g
4} Resting on brick arches (4) 3z =t =9l W faeR g
70. Nalanda is : 70. T TS ¢
(1) An ancient town in Sri Lanka (1)  dtein 5 g vl &
(2) A Temple (2) HiXE
(33  Ancient center of higher learning (3) WY 3 T B he §
(4) A Fort in Bihar (4) faer o fwen @

71.  Which one of the following is a sound | 71. 379 § ®iF-1 taf+ uftafed wad 7

reflecting material ?
(1) Woolen cloth (1) oA ®9El
21 Wood (2) SEX
* Mirror (3) SArEAl
)  Cotton Cloth (4) et wYSl
72. Buland Darwaza is located in : 72, FEG SUES el WE?
(1) Fatehpur Sikri (1) haeqe Hisdt |
(2) Red Fort (2) e fead
(3) Agra Fort (3) AT Tehet H
(4) Golconda (4) oS d
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73. Shahjahanabad is a part of which one of | 73. WEseMER Fafafas wed ¥ @ fFraw

the following cities ? feam @2

(1) Lucknow (1) v&TF
(2) Delhi (2) T
(3) Aurangabad (3) HTER
(4) Allahabad (4) TEREMERE

74. Which one of the following is not an | 74. T8 ¥ %M | FgoR T8 €2
architect ?

(1) Raj Rewal (1) 7T &

(2) B.V. Doshi (2) /=4, =i
(3) Zakir Hussain (3) FFEES
(4) Hafiz Contractor (4) wFES Tz

75. The famous work of Leonardo Da Vinci | 75. Toammei o fodt =t wieg ssm © ¢

18 :

(1), Cleopatra (1) focramdz
(2)  Elizabeth (2) ufasmy
(3) Mona Lisa (3) = fom
(4) The King (4) T
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There are maximum forests in which State
of India :

(1) Uttar Pradesh
(2) Karnataka
&) Madhya Pradesh

(4) Himachal Pradesh

The temple of Angkorvat is in :
(1) Laos

(2) Vietnam

(3) Myanmar

(4) Cambodia

Which is best used as a sound absorbing
material in partition walls ?

(1) ¢ Steel
(2)  Glass-wool
(3) Glass pieces

(4) Stone chips

76.

77.

78.

YA meg Afys A fesg ey g 22

(1) T
(2) FHAZEH
(3) WA WS

(4) fﬂﬁ?«tm

(1) weEHe
()  EaTm T §
@) TR E

(4) wwEfem @

FEE YSid wEfH- sagien % fau, faweE
e H Hed e wain § e e e ?

(1) w4
(2) S & T (Glass-wool)
(3) FHFIFS

(4) WRR E THS
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79. Which one of the following is an | 79. [7wfiferd BTl | T FT T V&Y | T2 21
Earthquake resistant structure ?

H
)
(3)
82

Mud walls
RCC framed
LLoad bearing brick walled

Random stone masonary

80. Eiffel Tower is located in :

(1)
2)
&
(4)

London
Australia
Paris

Beijing

-000-

27
(1)
(2)
(3)
(4)

o2t T | 5 AN

AR HL . T

W T aTelt 32 %1 ZEm
HTFA-TH ToF = T H

80. Uufre far wa fiug g7

-o0Do-

S/Page 26

SPACE FOR ROUGH WORK / TF &4 & fau e



/ﬁ/ SRIGAYATRI EDUCATIONAL INSTITUTIONS

7 INDIA

PAPER-II Date: 03-04-2016
Time: 3 Hours [ JEE MAINS 2016 ] Max. Marks: 390
KEY SHEET
CODE-S
MATHS

1) 4 20 33 44 15 486 27 48 19 1 10 3
1) 4 12) 1 13) 2 14) 3 15) 1 16) 3 17) 2 18) 2 19) 2 20) 3

21) 1 22) 1 23) 1 24) 2 25) 2 26) 2 27) 3 28) 4 29) 4 30) 1



	jee-main-2016paper2-questionpaper
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20
	21
	22
	23
	24
	25
	26

	jee-main-2016paper2-key



